Plush Lounge | Indiana
620-000GB Attachment Assembly Instructions

Attachment:
For units without 'Plinth’ option skip to page # 2

With Plinth:

Note: These instructions only show how to attach the 620- 0 Start by flipping the chair over.

000GB kit to the arm sides of a chair. For attaching the kit to

an ottoman please see the appropriate ottoman instructions. Attach the 'L brackets to the appropriate holes on the

left side of the plinth. Use the #8 x 1-1/2” long screws

to attach the brackets.

L

N ——

Attach the 2-prong part of the ganging brackets to the
appropriate holes on the right side of the plinth. Use
the #8 x 1-1/2” long screws to install the brackets.

For all chairs: the 2-prong side of the ganging brackets always
goes on the right side of the chair (when facing the front).
The ‘L’ bracket side always goes on the left side of the chair.

a Flip the chair back upright. This chair is ready for
ganging. See General Ganging Instructions.

Note: Images shown are for clarity purposes only and may not match the unit that you are currently ganging together.

800-422-5727
Page 1 of 4 Proper product assembly is the responsibility of the installing agent. If you have any questions concerning these instructions, please contact Customer Service. www.IndianaFurniture.com



Without

FURNITURE

Plush Lounge | Indiana

620-000GB Attachment Assembly Instructions

Plinth:

0 Start by printing out the templates on Pages #3-4.
Make sure they measure to the correct size on the

template.

g Flip the chair over.

Use the templates to mark the bottom side of the

chair.

Align template
to edges

Front

Align template
to edges

Position the metal ‘L’ bracket to the lines drawn and
attach it with the #8 x 1-1/2” screws.

6 Attach the 2-prong ganging bracket using the
#8 x 1-1/2” long screws.

y
.//
I} /

Mark L 2-prong Mark
Corners Bracket Side Corners — ==
\ Side & .
I@jil ‘
Templates must be H
flipped for marking
back side 6 Flip the chair back upright. This chair is ready
for ganging. See General Ganging Instructions.
Note: Images shown are for clarity purposes only and may not match the units that you are currently ganging together.
800-422-5727
Page 2 of 4 Proper product assembly is the responsibility of the installing agent. If you have any questions concerning these instructions, please contact Customer Service. www.IndianaFurniture.com



Plush Lounge | Indiana
620-000GB Attachment Assembly Instructions

0 Print out this template at full size. Make sure the 1”
square actually measures 1”.

17 X1” 9 Then cut out the template along the solid black
SQUARE outline.

e It is best to verify the two dimensions shown on the
template. These should be within 1/16” of the value
shown.

For multiple installs it is advised to print this template MARK CORNER
out on heavy cardstock or transfer it to a piece of A
wood.

(2-3/4”)
‘I’ BRACKET TEMPLATE

MARK CORNER

FRONT / BACK

A

OUTSIDE EDGE (8-1/8”)

\ 4

800-422-5727
Page 3 of 4 Proper product assembly is the responsibility of the installing agent. If you have any questions concerning these instructions, please contact Customer Service. www.IndianaFurniture.com



Plush Lounge | Indiana
620-000GB Attachment Assembly Instructions

0 Print out this template at full size. Make sure the 1”
square actually measures 1”. 17 X 17

SQUARE

9 Then cut out the template along the solid black
outline.

e It is best to verify the two dimensions shown on the
template. These should be within 1/16” of the value
shown.

MARK CORNER

i For multiple installs it is advised to print this template
out on heavy cardstock or transfer it to a piece of
wood.

ddNd0D MdVIN

'2-PRONG’ BRACKET TEMPLATE

(3")

AJVE / LNOdA

A 4

y 3

OUTSIDE EDGE (7-3/8”)

800-422-5727
Page 4 of 4 Proper product assembly is the responsibility of the installing agent. If you have any questions concerning these instructions, please contact Customer Service. www. IndianaFurniture.com



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4

